(552) 4831

Printed Pages—4+2] 2BBA(EC)2/CCC5
Bachelor of Business Administration (EC) (Second Semester)
(CBCS) Examination, May/June, 2019
BASIC ACCOUNTANCY
s@f¥/Duration : 3 ¥/Hours] [qurfeh/Max. Marks : 80

[FIFa|  3wvie/Min. Pass Marks : 32
fder -
1. YIS Uie ThEdl A fawifa ¥ ydE TR B oo fawew femm mam ®)
2. YIF THE G Wk U9 I SW SO 3H YHR KA U G F SW e
3. wft i & fow wEE e fra ®)
4. Rl AERIEA T TR SR S "Ml ST §HhAl g
5. I H fagnfa R W EST wWEY H WE " S

6. g H ogaenet Ui o W T a0 TR A wifS

Instructions :

1. The question paper is divided in five units. Each unit carries an internal
choice.

2. Attempt one question from each unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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313 I/(Unit )

fafi dermw g *=n ¥ 2 3= @ AR fwe S ® 2 ST 9@ Rl 5 % T
HisEl

What are different subsidiary books ? Why are these prepared ? Give specimen

of any 5 of them.
31a/(Or)
fag =ivA f& g & ffafeg @t oA-37 #§ ofemed g ag< §
(@) ¥ 60,000 THs & Y foomg ¥E& fwam
(b) " H T 500 w1 fRTETI
(c) T & fau ¥ T 30,000 IR wfse T 20,000 |
(d) ¥ % 30,000 HT RS H o= A, fSEHI wHIFA T 20,000
() aaF T 500 3R I T 100 AT Tl
(H AR IR & fau wdE T He wEfed 5,000 |

Prove that the accounting equation is satisfied in all the following transactions

of Suresh :

(a) Commenced business with cash ¥ 60,000.

b) Rent paid in advance ¥ 500.

(c) Purchased goods for cash ¥ 30,000 and credit ¥ 20,000.
(d) Sold goods for cash ¥ 30,000 costing ¥ 20,000.

(e) Paid salary ¥ 500 and salary outstanding ¥ 100.

2] Bought motor cycle for personal use ¥ 5,000.
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3% IU/(Unit II)
YT Sl Thad SRV HAtRd o gEmr g1 fewft wifsu
“Trial Balance is just a proof of arithmetical accuracy.” Comment.
3gAa/(Or)

TE w R I | FH-HIGT IR FwEen & fou amar R wigfa oen fag
=l fomr ¥ == Sifsu)

Define the Accounting. Discuss in detail the generally accepted accounting

principles used for Book-keeping and Accounting.
gehlg III/(Unit ITD)

fr=fafea foeror @ 31 9, 2013 =1 e @@, oy iR =4 @ iR Sod 3 TaR
HifST

TSt 2,10,000, STEIUT 13,000, BT 80,000, TR H f7awr1 gfayfa 20,000, few = ==
1,000, AL 34,000, fafae R 70,300, FHEA = 4,000, TG H qHS 1,200, SF H
THE 11,000, FIes a2t 60,000, A SR @ie 1,20,000, foa <2 6,500, foa wre
7,000, A1 13,000, A @€ 3,000, T i STAMT & 4,500, foht 2,20,000, FrEe™
1 foRTan 2,400 ST 1,700, 9@ HO 1,500, T SR FHF 2,700, A IR ML 3,500,
FA TR 4,500, T2 6,000, T @A 5,000, fafgy TFER 50,000, fed a€
3,200, fied em3emEE 4,000, Hfeem ®R 30,000, wH=R Te fHET 5,000.

fafRad ARl :

(@ a9 & o § w4 T 50,000 FI.

(b) RS WU W 5% IR WA R Wi § 10% & fReE |

) TE IR Hfey ®wi & fau sifufed g@em 300 ¥93 & fau sAmEn s @)
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From the following details, prepare Trading Account, Profit & Loss Account and

Balance Sheet on March 31, 2013 :

Capital 2,10,000, Drawings 13,000, Purchases 80,000, Investment in Govt. Secu-
rities 20,000, Interest on investment 1,000, Wages 34,000, S.Debors 70,300, Legal
Expenses 4,000 Cash in hand 1,200, Cash at Bank 11,000, Freehold Property
60,000, Machinery and Plant 1,20,000, Bills payable 6,500, Bills receivables 7,000,
Salaries 13,000, Office expenses 3,000, Discount allowed 4,500, Sales 2,20,000,
Opening stock 45,000, Office rent 2,400, Insurance 1,700, Bad Debts 1,500, Gas
and Fuel 2,700, Freight and Carriage 3,500, Loose tools 4,500 Patents 6,000,
Factory lighting 5,000, S. Creditors 50,000, Returns inwards 3,200, returns

outwards 4,000, Creditors for loans 30,000, Furniture and fittings 5,000.
Additional Information :

(a) Closing Stock at the end of the year 50,000.

b) Depreciate freehold property @ 5% and Machinery and Plant by 10%.

(c) Additional provision for bad had doubtful debts is to be created for

. 300.

A41/(Or)

R-GMVHI Al & o9t F1 Afu € 7 7ifid iR fam @l 3R o™ 3R =9
Th & dE TR W Uk fowga A fafed

What do you mean by non-profit organizations ? Write a detailed note on the
difference between Receipt and Payment Account and Income and Expenditures

Account.
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313 IV/(Unit IV)

9t 3R g FHAM: T 6,00,000 3R T 4,00,000 HI TSt & WY 9FER T1 ®H & 1Y
3R = = 7 T8 & o T 4,26,800 # g A fewmn fefafed w o faER w3
® 9 Y IR 'H ' AR ®ifSu

(@)  H & T 2,00,000 F G HOT W A
(i) Ut W AN 6% aNMEE Tl
(iii) SO W =S 8% aNfbieh | MW I— d T 80,000 IR F T 10,00,000 |

(v) Q H fohT W 3% FHIYH & AN < W 71 a9« & faw fowt T 10,00,000
ot |

(v) 10% faursa oy 1 fiod @a § @ S g

P and Q are partners with capital of ¥ 6,00,000 and ¥ 4,00,000 respectively. The
Profit and Loss Account of the firm showed a net profit of ¥ 4,26,800 for the
year. Prepare Profit and Loss account after taking the following into

consideration :
@) Interest on P’s Loan of ¥ 2,00,000 to the firm
(i1) Interest on Capital is 6% annual.

(izi) Interest on Drawings 8% annual. Drawing were : P ¥ 80,000 and Q ¥

10,00,000.

(tv) Q is to be allowed a commission on sales 3%. Sales for the year were

Z 10,00,000.

(v) 10% of the divisible profits are to be kept in a Reserve Account.

5 P.T.O.
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A4/ (Or)

STIRTYT TV Hid oA I & T AN Fafdd wieiehd STaR & faed & fafy= alieni
HT FUH HITT |

Illustrate the various methods of settling the claim of Retiring Partner and the

related accounting treatment.
a3 V/(Unit V)
FTAESE STHEET & IR | R ¥ T iR sHa! qo H9sTa SThsien 9§ Hifsd |

Explain in detail computerised Accounting and compare it with Manual

Accounting.
31 a/(Or)
g H Ee & sfaed W ww ey fafed

Write an essay on History of Income Tax in India.



